A

4-16 Determine the forces in members BD, BE, and CE of the truss and loading shown in Fig. P4-16 by the method of
sections.

Solution. B

D F

12 kN 12 kN

T4+ we vse o |edt por.f'\'ow 04"

12 kN

- 3 ) —

59(..{'1'0»4 p Wwe olu no+ niecd

 Solw for 4w reachomns F Juf)fiof+5 F ard 6.

X
s R

I+ +He Huss is i~ e Ul[lbrr‘bw‘l
ar.') Por’ﬁ'on oF e Hruss is

l"’M ve%ufhbntmw 5

For He M&‘“\ud oﬂLgecl-\bnS He
ON) ponts wha f0 falce a
Momerd 15 what @ Lints o1

ﬁc(’*om n-\-(-usw{' -@m’ at'
C(.uJ-Fr/\k)

ooy Unlcnown  pmemlov forees

FBD- Ledk PorH o 04’ Sechon a-an

@M¢50] IZI<N((»~\) +lzen(zm) — ’:B

Le. e B and E

5 (tm) = O

E - logkvwm - 27 kN (T
Bp yEe )
@M“B:O] 12 ko (Bm) + Fog (4m) =O
R =BuFNR o waal i) wed
: Ll (FCE: QKN (c)
(=6 Fee + %F, |

O

ee +Fep =

FB}} = _i,(— Fee 'PSD): “;'l/- {-pr‘) - 27En )

i\

l
W
8]
X
radh
2
“

ard l:gﬁz 20 kM (0)



